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ABC Co. Ltd. produces three products A,B and Z for which the standard cost and quantities per unit are as follows:

PRODUCTS
A
Output (units) 10,000

Direct material per 50
unit(Rs)

Direct labour per unit(Rs) 30
Labour hours per unit 3
Machine hours per unit 4

No. of purchase 600
requisitions

No. of machine set ups
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Production overhead split by department:
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Production overhead split by activity:
Receiving and inspection = Rs.14,00,000

Production scheduling/set up = Rs.13,00,000 { W
|
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No. of batch received/inspected - 2500
No. of batches for scheduling/set up - 400
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